7SSe

Z =34

N =44

adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE

679.989 ( 0.000) MeV

Energy T

J+

I N N e =)

.327
.335

.637

.547

.682

.753
.754

.915

2+
o+

2+

6+

4+

0+
2+

4+

2.507

2.743

2.890

2.949
3.003

3.014

3_

. 267

.300

.362

.546

.560
.630

.647

.719
.735

.838
.864

.898

.006

.040
.049

1,2(+)

(0+)

(1-,2-,3-)

(1,2)+

(5+)

(2+)

1,2+

(1+:4+)
(3-)

10

STABLE
9.79 PS
4.2 PS
45 PS

1.04 PS

1.2 PS
4.6 PS
0.7 PS

6.2 PS
0.055 PS

0.49 PS

14

14

0.62 PS
0.42 NS

21
14

3.0 NS


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=78Se 
https://www.nndc.bnl.gov/ensdf/

3.140

3.186

3.243

3.294

3.451

3.585

3.604

4+

2+

2+

4+

0+

8+

2+

3.133

3.144

3.288

3.307

3.373

3.453

3.523

3.527

3.687

3-

w

.061
.089

.090

.130

.140

.182

.230

.265

.310
.329

.384

.386
.391

.440

.488
.494
.496

.523

.546

.550

.592

.624

.628

.632

.704

.711

.735
.754

0+&5-
(5-)

(o+)
0+,1+,2+
(6+)
(2)+

(1-,2,3)

(0,1,2)+

O+:4+
(2+)
(5-)

1

1,2(+)

1,2(+)

(2-,3-,4-)

(7-)

1-

1,2(+)

(1+,2+)

(7+)

1,2,3)
O+:4+

0.28 PS

+14-7

11 PS

4

0.12 PS

1.4 PS

4

3.5 PS
0.42 PS

21
14



4.121

4.122

4.182

4.265
4.297

4.409

4.483

4.509

8+

4+

0+

0+
2+

2+

4+

2+

774

.881

.995
.999

.048

.106

.155

.224

.345

KN

.830

.960

.037
.038

.050
.080

.120

.163

.190
.214

.245
.263
.264

.342

.367
.369
.387

412
.424

.448
.451
.469

.493

.529

.557
.569

1-,2-,3-

1,2(+)

(1-,3-)
(1-,3-)

(5-)
1,2(+)

0-,1-

1,2(+)
-
(3-)
(1,24)

(9-)
(2+)

1,2(+)
(0+&3-)
1,2(+)

3)-

(0+&4+)

86 0.55 PS 14

95 0.9 PS 3

106 1.4 PS GT

116
117



.616

.723

.792
.812

.904

.944

.030

4+

2+

0+
2+

2+

2+

2+

4.622

4.639

4.857
4.879
4.902

4.972

5.295

5_

3_

3_

NN

S

[S2 ey ]

oo oo oo ool

o ;o

.591

.625

.673
.684
.690
.697

.758

787
.788

.819
.857

.957

.998
.005
.022

.055
.091
.095

.102
.120
.127
.136
.164
.181
.205
.235
.247
.290

.340
.357
.391

3)-

(10+)

(2+)
(2+)

4+&1-
(10+)

-

(9-)
(9+)

1,2(+)

1,2(+)

0-,1-
(2,3,4)

1(+),2(+)
1-,2-,3-

1,2(+)

1,2(+)
(2+)



S-alpha=

S+p

S+n
S+2p
S+2n
S+alpha

gap p

gap n

gap 2p
gap 2n
gap alpha

5.610

.028 (

.399
.498
.391
.917
.028

~N AN~~~
O O O O O

-6.331
-6.963
-15.445
-16.876
-5.991

4.068
3.535
2.946
1.041
0.038

~N AN~~~
O O O O O

~N AN~~~
O O O O O

2+

[S2Ie2 B¢ 2 BN G2 B ey

.422
.440
.451
.480
.513
.580

1,2(+)
(1+,2+,3+)
1,2(+)




